Ratio to ATLAS

2.5

1.5

[EEY

0.5

7000 GeV pp Underlying Event
(T T T T T T T T T T T A R R R
B Average p, VS N, (TWRD) (n| < 2.5, p_>0.5 GeV) B
. m ATLAS i
| --3-- Herwig 7.2.0 default ]
| —a— Pythia 8.186 default -
o ¢ Sherpa 2.1.0 default .
¢ _
— BB TR YOO S SV U S S YUY SR VY ST ST S TN B B R
| | | | | | | Lo, | | | | | | ]
: T T T T | T T T T | T T T T |:
: ' i
B = 1- £3 -2+ £3-CF £1-E1 - B3 G- (3 -BF f3-B - B L] 7
= AR S ST SR SR SR S S S S Y SRPURPS

" 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " |
0 10 20 30
N

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


